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Section A Vsaq

1. If  is a surjection defined by 

 then find B.

Watch Video Solution

A = { − 2, − 1, 0, 1, 2} and f :A → B

f(x) = x2 + x + 1

2. Find the domain of the real function 

Watch Video Solution

log(x2 − 4x + 3)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xKMKaPrjK0YH
https://dl.doubtnut.com/l/_fHtEMksIVVW1
https://dl.doubtnut.com/l/_nzG3tMwlXxut


3. Solve the following system of homogenous equations

.

Watch Video Solution

x + y + z = 0, x + 2y − z = 0, 2x + y + 3z = 0

4. Defind Triangular Matrix.

Watch Video Solution

5. Let . Find the unit vector in the

direction of .

Watch Video Solution

ā = ī + 2j̄ + 3k̄ and b̄ = 3 ī + j̄

ā + b̄

6. Find the vector equation of the line passing through the points

.

Watch Video Solution

2 ī + j̄ + 3k̄ and − 4 ī + 3j̄ − k̄

https://dl.doubtnut.com/l/_nzG3tMwlXxut
https://dl.doubtnut.com/l/_n5DZXq9ctWSv
https://dl.doubtnut.com/l/_JsmkbxHJaDfJ
https://dl.doubtnut.com/l/_fJk9l1OJH7Mn


7. If the vectors , are perpendicular

to each other find .

Watch Video Solution

λī − 3j̄ + 5k̄, and 2λī − λ(j) − k̄

λ

8. If , then prove that .

Watch Video Solution

A + B =
π

4
(1 + tanA)(1 + tanB) = 2

9. Eliminate  from .

Watch Video Solution

' θ' x = a cos3 θ, y = b sin3 θ

10. If , then show that .

Watch Video Solution

sinhx = 3 x = loge(3 + √10)

https://dl.doubtnut.com/l/_fJk9l1OJH7Mn
https://dl.doubtnut.com/l/_TMaYk0aR9sBV
https://dl.doubtnut.com/l/_AmC1YUwbg4yY
https://dl.doubtnut.com/l/_oXTGACvTQ6yq
https://dl.doubtnut.com/l/_1ox14tzRcSbr


Section B Saq

1. If  then show that 

 where I is identify matrix of order 2.

Watch Video Solution

I = [
1 0

0 1
] and E = [

0 1

0 0
]

(aI + bE)
3

= a3I + 3a2bE

2. Show that the line joining the pair of points  and

the line joining the pair of points,  intersect

at the point  when  are non-coplanar vectors.

Watch Video Solution

6ā − 4b̄ + 4c̄, − 4c̄

− ā − 2b̄ − 3c̄, ā + 2b̄ − 5c̄

−4c̄ ā, b̄, c̄

3. Find  in order that the four points

 be coplanar.

Watch Video Solution

λ

A(3, 2, 1), B(4, λ, 5), C(4, 2, − 2) and D(6, 5, − 1)

https://dl.doubtnut.com/l/_ZpQzNx6PmlZh
https://dl.doubtnut.com/l/_hY7x3oHaFZtX
https://dl.doubtnut.com/l/_z1t565JPGnPb
https://dl.doubtnut.com/l/_0k2dYUj0Cy63


Section B

4. If none of the denominators is zero, prove that. 

.

Watch Video Solution

( )
n

+ ( )
n

= {
2 cotn( ) if nis eve

0 if nis odd

cosA + cosB

sinA − sinB

sinA − sinB

cosA + cosB

A−B

2

5. If  are solutions of the equation a 

, then find the

values of (i)  (ii) .

Watch Video Solution

θ1, θ2

cos 2θ + b sin 2θ = c, tan θ1 ≠ tan θ2 and a + c ≠ 0

tan θ1 + tan θ2 tan θ1. tan θ2

6. Prove that .

Watch Video Solution

sin− 1( ) + =
4

5

sin− 1 7

25

sin− 1 117

125

https://dl.doubtnut.com/l/_0k2dYUj0Cy63
https://dl.doubtnut.com/l/_pU67pLTc0hSN
https://dl.doubtnut.com/l/_yQQjJZKyzMtD
https://dl.doubtnut.com/l/_BbMG8cTYHFgG


Section C Laq

1. If , then prove that .

Watch Video Solution

a = (b − c)secθ tan θ =
2√bc

b − c

sinA

2

1. If  are two bijective functions then prove that 

 is also a bijective function.

Watch Video Solution

f :A → B, g :B → C

gof :A → C

2. Using Mathematical induction. For all . Show that 


.

Watch Video Solution

n ∈ N

a + (a + d) + (a + 2d) + …………. . nupto n terms = [2a + (n − 1)d
n

2

https://dl.doubtnut.com/l/_BbMG8cTYHFgG
https://dl.doubtnut.com/l/_kcBLqtD2DpPR
https://dl.doubtnut.com/l/_LyPD3vjxK6ja


3. Show that .

Watch Video Solution

∣
∣
∣
∣

a + b + 2c a b

c b + c + 2a b

c a c + a + 2b

∣
∣

∣
∣

= 2(a + b + c)
3

4. solve the following system of equations by using Matrix inversion

method. 

.

Watch Video Solution

2x − y + 3z = 9, x + y + z = 6, x − y + z = 2

5. If  then find 


.

Watch Video Solution

ā = ī − 2j̄ + 3k̄, b̄ = 2 ī + j̄ + k̄, c̄ = ī + j̄ + 2k̄

∣(a × b) × c)| and |a × (b × c)∣

https://dl.doubtnut.com/l/_ScIzgwWk0imE
https://dl.doubtnut.com/l/_ziQSpK1HzIZS
https://dl.doubtnut.com/l/_4ObULyPM39Ea


6. If , then prove that 


.

Watch Video Solution

A + B + C = 2S

sin(S − A) + sin(S − B) + sinC = 4 cos( )cos( )
S − A

2

S − B

2

sinC

2

7. If  and , prove that 

.

Watch Video Solution

r1 = 2, r2 = 3, r3 = 6 r = 1

a = 3, b = 4 and c = 5

https://dl.doubtnut.com/l/_imx6vrspCqoM
https://dl.doubtnut.com/l/_5n3X2OPVbDdG

